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Instructions. Ouly calculators are allowed on this examination. Point values of each problem are indicated.
Always use the appropriate wording and units of measure in your answers (when applicable).
SHOW YOUR WORK NEATLY, PLEASE (no work, no credit).

Instructor: Dr. Francesco Strazzullo

1. Solve the following equations and check your solution.

(a) (LOpts) Tw — 1 =4(1 — 2x)
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2. Find the solution set for the following inequalities, then write the solution in interval notation.

(a) (LOpts) S5z > 2z — 6.
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(b) (10pts) 22 — 32 > 4.
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3. (15pts) Find the slope and the y-intercept for the equation 4a: — 3y = 10.
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4. Write the equation of each straight line described. | .
(a) (10pts) Through (1,2) and (—1,0). TN (! [ 2) = ./le 7/3) : (" (f O) - (x, J \/f)
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(b) (10pts) Through (0,3) and parallel to the line with equation y = —2z + 4.
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(¢) (10pts) Horizontal through (6, —1).
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5. (15pts) Alberto carns a weekly salary of $250 plus 10% of his sales volume. Write an equation describing
Alberto’s total weckly carnings for 2 dollars in sales. Use the following steps.

(a) Which fact gives the slope?
g Swlz 18 (e’ BY Tus  URCEWT 0P ALBERTOls  igmmi $Siod,

o 8 0
: 0% = — = .
Har 18 DY s \

(b) Which fact gives the y-intercept?
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(¢) Write the equation in the form y = ma + b.
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